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Name _________________________________                Date _________________ 

Skill 2 -15A: Subtraction 

Count Back by 10’s to Subtract 
 
Directions: Subtract tens to help solve a subtraction problem. The first one is done for you as 
an example. 

Example 
You can solve 60 - 40 by first subtracting the tens. 

60 - 40 6 tens - 4 tens = 2  tens 60 - 40 = 20 

 
Write answers on the blank lines below.  

1. 90 - 60  9 tens  –  6 tens = _____tens 90 – 60 =  _____ 

2. 30 - 20  3 tens  –  2 tens = _____ten 30 – 20 =  _____ 

3. 30 - 10  3 tens  –  1 ten = _____tens 30 – 10 =  _____ 

4. 60 - 20  6 tens  –  2 tens = _____tens 60 – 20 =  _____ 

5. 40 - 10  4 tens  –  1 ten = _____tens 40 – 10 =  _____ 

6. 70 - 50  7 tens  –  5 tens = _____tens 70 – 50 =  _____ 

7. 20 - 10  2 tens  –  1 ten = _____ten 20 – 10 =  _____ 

8. 80 - 60  8 tens  –  6 tens = _____tens 80 – 60 =  _____ 

9. 70 - 50  7 tens  –  5 tens = _____tens 70 – 50 =  _____ 

10. 50 - 10  5 tens  –  1 ten = _____tens 50 – 10 =  _____ 
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Name _________________________________                Date _________________ 

Skill 2 -15A: Subtraction 

Count Back by 10’s to Subtract 
 
Directions: Subtract tens to help solve a subtraction problem. The first one is done for you as 
an example. Write answers on the blank lines below. 
 

11. 70 - 20  7 tens  –  2 tens = _____tens 70 – 20 =  _____ 

12. 80 - 10  8 tens  –  1 ten = _____tens 80 – 10 =  _____ 

13. 50 - 0  5 tens  –  0 tens = _____tens 50 – 10 =  _____ 

14. 60 - 10  6 tens  –  1 ten = _____tens 60 – 10 =  _____ 

15. 90 - 60  9 tens  –  6 tens = _____tens 90 – 60 =  _____ 

16. 40 - 30  4 tens  –  3 tens = _____ten 40 – 30 =  _____ 

17. 20 - 10  2 tens  –  1 ten = _____ten 20 – 10 =  _____ 

18. 90 - 50  9 tens  –  5 tens = _____tens 90 – 50 =  _____ 

19. 70 - 0  7 tens  –  0 tens = _____tens 70 –0 =  _____ 

20. 50 - 40  5 tens  –  4 tens = _____ten 50 – 40 =  _____ 

21. 80 - 70  8 tens  –  7 tens = _____ten 80 – 70 =  _____ 

22. 50 - 30  5 tens  –  3 tens = _____tens 50 – 30 =  _____ 
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Name    Date  

Skill 2 -15A: Subtraction 

Count Back by 10’s to Subtract 
 
Directions: Subtract tens to help find the answer.  

 
Example 

 9 tens  –  7 tens = 2  tens  90 – 70 =  20 92 – 70 =  22 

 

23. 7 tens  –  2 tens =  _____  tens  70 – 20 =  _____ 74 – 20 =  _____ 

 

24. 4 tens  –  3 tens =  _____  ten 40 – 30 =  _____ 48 – 30 = _____ 

 

25. 2 tens  –  1 tens =  _____  ten 20 – 10 =  _____ 23 – 10 = _____ 

 

26. 7 tens  –  2 tens =  _____  tens 70 – 20 =  _____ 77 – 20 = _____ 

 

27. 3 tens  –  1 tens =  _____  tens 30 – 10 =  _____ 36 – 10 = _____ 

 

28. 4 tens  –  2 tens =  _____  tens 40 – 20 =  _____ 42 – 20 = _____ 

 

29. 8 tens  –  4 tens =  _____  tens 80 – 40 =  _____ 83 – 40 = _____ 

 

30. 6 tens  –  3 tens =  _____  tens 60 – 30 =  _____ 67 – 30 = _____ 

 

31. 6 tens  –  3 tens =  _____  tens 60 – 30 =  _____ 67 – 30 = _____ 
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Answer Key Skill 2 -15A 

1. 90 - 60  9 tens  –  6 tens = 3  tens 90 – 60 =  30 

2. 30 - 20  3 tens  –  2 tens = 1  ten 30 – 20 =  10 

3. 30 - 10  3 tens  –  1 ten = 2  tens 30 – 10 =  20 

4. 60 - 20  6 tens  –  2 tens = 4  tens 60 – 20 =  40 

5. 40 - 10  4 tens  –  1 ten = 3  tens 40 – 10 =  30 

6. 70 - 50  7 tens  –  5 tens = 2  tens 70 – 50 =  20 

7. 20 - 10  2 tens  –  1 ten = 1  ten 20 – 10 =  10 

8. 80 - 60  8 tens  –  6 tens = 2  tens 80 – 60 =  20 

9. 70 - 50  7 tens  –  5 tens = 2  tens 70 – 50 =  20 

10. 50 - 10  5 tens  –  1 ten = 4  tens 50 – 10 =  40 
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11. 70 - 20  7 tens  –  2 tens = 5  tens 70 – 20 =  50 
12. 80 - 10  8 tens  –  1 ten = 7  tens 80 – 10 =  70 
13. 50 - 0  5 tens  –  0 tens = 5  tens 50 – 0 =  50 
14. 60 - 10  6 tens  –  1 ten = 5  tens 60 – 10 =  50 
15. 90 - 60  9 tens  –  6 tens = 3  tens 90 – 60 =  30 
16. 40 - 30  4 tens  –  3 tens = 1   ten 40 – 30 =  10 
17. 20 - 10  2 tens  –  1 ten = 1  ten 20 – 10 =  10 
18. 90 - 50  9 tens  –  5 tens = 4  tens 90 – 50 =  40 
19. 70 - 0  7 tens  –  0 tens = 7  tens 70 –0 =  70 
20. 50 - 40  5 tens  –  4 tens = 1  ten 50 – 40 =  10 
21. 80 - 70  8 tens  –  7 tens = 1 ten 80 – 70 =  10 
22. 50 - 30  5 tens  –  3 tens = 2  tens 50 – 30 =  20 
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23. 7 tens  –  2 tens =  5  tens  70 – 20 =  50 74 – 20 =  54 
24. 4 tens  –  3 tens =  1  ten 40 – 30 =  10 48 – 30 = 18 
25. 2 tens  –  1 tens =  1  ten 20 – 10 =  10 23 – 10 = 13 
26. 7 tens  –  2 tens =  5  tens 70 – 20 =  50 77 – 20 = 57 
27. 3 tens  –  1 tens =  2  tens 30 – 10 =  20 36 – 10 = 26 
28. 4 tens  –  2 tens =  2  tens 40 – 20 =  20 42 – 20 = 22 
29. 8 tens  –  4 tens =  4  tens 80 – 40 =  40 83 – 40 = 43 
30. 6 tens  –  3 tens =  3  tens 60 – 30 =  30 67 – 30 = 37 
31. 7 tens  –  3 tens =  4  tens 70 – 30 =  40 73  – 30 = 43 
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